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B 37372 3,680 (13dLI|=F)
4,000 3,580 3,458
3,000
2 000 1,800 1,923
1,000 (A+B) (A +B-C) =
) M3HEY EA 4 £ 144 X & 42 of AbThe
(A) (B) (C) (D)
(Ehe| : ol
s w 505192 20149 E 2278 é?:i; (g_jc'AL)
EFSLY ol ] of| A4 ko o -
(A) = (B) X &(C) (D=A+B-C) = N H 2
A 358,025 180,045 ~ 192,302 345,768 -12,257| A3.4
~ A 323,374 159,592 165,998 316,968 -6,406 A1.8
aYxEIIF 3,089 96 90 3,095 6 0.0
HAgzE712 9,585 291 290 9,586 1 0.0
BN = 47,057 1,908 1,689 47,276 219 0.1
Hads Y|z 4,148 524 582 4,090 -58 A0.0
oM UMI|F 10,319 283 350 10,252 -67|  A0.0
MNEZEIE 2,104 1,755 1,411 2,448 344 0.1
S | sHEMI|F 10,342 1,296 1,305 10,333 -9 A0.0
T3 aolol gz 714 307 7 1014 300 0.1
(16) =cistataty| 2 2,723 94 2,817 94 0.0
slctol QI RIIEX| 7|2 1,992 463 63 2,392 400 0.1
HEUREHIF 3,264 231 2,395 1,100 -2,164 ~0.6
ENT|ATHY|F 136,576 14,608 30,000 121,184 -15,392 N4.3
H X | F 500/ 116,191 116,691 -500|  A0.1
H| SR oErH2|7|F 65,990 15,500 5,555 75,935 9,945 2.8
BFETARAFAHYTZ 8,615 253 250 8,617 3 0.0
Atz 2 16,355 5,794 5,320 16,829 474 0.1
;E A~ A 34,651 20,453 26,304 28,800 -5,851 A1.6
(1) SHETEIS 34,651 20,453 26,304 28,800 -5,851 A1.6
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INSCIE=DN|
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SRR
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E35F | 40l0[%|
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7218 =dst
(16) 7 = 2,817 2,723 94
s tojd el
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=D
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27|
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H| ZFoiEt
LTEIEIL; 81,490 13,000 65,990 1,800 700
SR}
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7 =2
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e 55,104 1,000 18,436 34,651 1,017
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BYFE
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HeSx=
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sSZEH
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=35t 400]%]
So wmolz 1,021 7 1,014
718 EZEoist
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07|
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a2 6,69 0,426 6,240 5
e
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